222%2.‘3% SCSLIMP2 | B Jiwata TOHATSU

(us)
- g - HE_| mE | WES
o -~ $45C REPEREERRIX
7 ; SHC | BB AERSUSXNTE
f, 9 7 SUS304 -~ PBEESUSNIE
mEBE SUS304

ql el 4T
H
S I | BT ERE
*@)* 2B NE
26 oo
A2 28~40 | 1933
L+0.1 250 008
S45C "
®E mERER ST B|L|D LED W/| X |Y|A M
m o |EFE| m O |EE| m % |EfR S |P.C.D
SCS0608CP2| ,  [SCS0608MP2| |, [SCS0608SP2| , | | 8 |20 |35 13 [1 |6 | 4|7 | M3x10
SCS0610CP2 SCS0610MP2 SCS0610SP2 10]20 35| 13 |1 |6 | 4|6 | Maxio
SCS0808CP2 SCS0808MP2 SCS0808SP2 8| 25| 45| 16 |15 |8 | 5|7 | M3x10
SCS0810CP2| . [SCSOB10MP2| , [SCSO8L0SP2| | [ 1025 [45] 18 [15[8 | 5]9 | Méx12
SCS0812CP2 SCS0812MP2 SCS08125P2 1228 55| 18 |15 85| 5|10 | M5x16
SCS0815CP2 SCS0815MP2 SCS08155P2 1530 | 55| 20 |15 ] 95| 5|10 | M6x15
SCS1010CP2 SCS1010MP2 SCS10105P2 1030 |55] 20 [15 ]9 511 | Max12
SCS1012CP2| ~ |Scsi012mP2| ~ [scsioiaspa| ~ | 10| 12 | 30 | 55| 20 |15 |9 | 5 |11 | M5x16
SCS1015CP2 SCS1015MP2 $CS10155P2 15|35 | 66| 24 |15 |10 | 6 |125] M6x18
SCS1210CP2 SCS1210MP2 SCS12105P2 1030 55| 22 |15]10 | 5|11 | Max12
SCS1212CP2| ~ |scsi2iamP2| ~ [scsiaiaspa| ~ | 12 [ 12 | 30 | 55| 22 |15 |10 | 5 |11 | M5x16
SCS1215CP2 SCS1215MP2 SCS12155P2 15| 35 | 66| 24 |15 |11 | 6 |125]| M6x18
SCSI310CP2( |, [SCSI310MP2| , [SCS13108P2| | o[ 10 [ 30 [ 45| 22 |15 |10 | 5|11 | Max12
SCS1315CP2 SCS1315MP2 SCS13155P2 15|35 | 66| 24 |15 |11 | 6 125 Mexis
SCS1510CP2 SCS1510MP2 SCS15105P2 1032 | 45| 24 |15 |11 | 6 |11 | M4x12
SCS1512CP2| ~ |SCsi512MP2| ~ [scsisizspa| ~ | 15 | 12 | 35 | 55| 26 |15 |12 | 6 |13 | M5x16
SCS1515CP2 SCS1515MP2 SCS15155P2 15| 40 | 66| 28 |15 |13 | 8 |13 | M6x20
SCS1610CP2 SCS1610MP2 SCS16105P2 10|35 45| 25 |15 |12 | 6|13 | Max12
SCS1612CP2| ~ |SCS1612MP2| ~ [scsielasp2| ~ | 16 | 12 | 35 | 55| 26 |15 |12 | 6 |13 | M5x16
SCS1615CP2 SCS1615MP2 SCS16155P2 15| 40 | 66| 28 |15 |13 | 8 |13 | M6x20
SCS2010CP2 SCS2010MP2 $CS20105P2 10| 40 | 55| 30 |15 |14 | 7 |15 | M4x16
scs2012CP2| ~ [scs201amP2| ~ [scsaomaspa| o | 20 [ 12 |40 | 55| 30 |15 |14 | 7 |15 | M5x16
SCS2015CP2 SCS2015MP2 SCS20155P2 15| 45 | 66| 34 |15 |15 | 8 |15 | M6x20
SCS2512P2|  [sCs2s1aMP2| |, [scsaslaspa| | [ 12[ 45 [55| 36 [15 [17 | 718 | M5x16
SCS2515CP2 SCS2515MP2 SCS25155P2 15| 50 | 66| 38 |15 |18 | 10 |18 | M6x25
SCS3015CP2| ~ |SCS3015MP2| ~ [SCS3015SP2| ~ | 30 | 15 | 55 | 66 | 44 |15 |20 | 10 | - | M6x25
SCS3515CP2| ~  |SCS3515MP2| ~ [scs3sissPa| ~ | 35 | 15 | 60 | 66 | 48 |2 |23 | 12 | - | M6x25
SCS4018CP2| ~ |SCS4018MP2| ~ [SCS4018SP2| ~ | 40 | 18 | 70 | 9 | 56 |2 |26 | 13 | - | M8x30
SCS5022CP2| ~ |SCS5022MP2| ~ [SCS50225P2] ~ | 50 | 22 | 85 |11 | 68 |3 |32 | 16 | - | M10X35
(Ps. Ri-ES
 EEMGMORS  BREEIT e[ & ® | wni[16]x|

SCS0608CP2



